Scheme State Year Centre Code Roll No.
Code Code
2(2|7(|11|3

Haryana State Level Talent Search Examination 2013

RN IS W 9fadr @iel gdien 2013

(For students in Class 10th)
Hell Al H IR faenfai & forg r

r“:
ol
F

|
L]

'ﬂ@"ﬂa

State Council of Educational Research and Tramgg 1;Iaryana, Gurgaon

Uy Afde gAY vd ufRiernr gReg

F
Time Allowed : 3 Hours qHg : 3ET
Maximum Marks : 180 11u|-fz5 - 180
Instructlon§ to the Ca étes
qrf? Gy f%m
Read the following instructiog * ‘éarefully gel & SR o7 ¥ ygel ffalRaa e

before you answer the questions. Answer
are to be marked on a SEPARATE O.M.R.
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1. Please write your Centre Code No.
.sand Roll NO. ‘/ery clearly (only one
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admission car nd even zeros
appearing in the Centre Code No.

and Roll No. are correctly written in
approprla blocks on O.M.R.
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2.  Thistest has three parts. Part | has 50
questions, part Il has 40 questions
and partlll has 90 questions .

3. Each question carries one mark.

4.  Since the time allotted to the three
parts of this question-paper is very
limited, you should make the best use
of it by not spending too much time on
any question.

5. Extra page has been provided for
rough work at the end of question
paper.

6. Do not mark more than one option of
any question on OMR sheet
otherwise answer will be cancelled.

|
7. Avoid cutting /  overwriting /aus
fluid on Page No. 2 of OMN eet
otherwise answer will be cancelled.

-
' &
!‘l.

8. Attempt each ques(lon there is no
negative marklﬁg in this test.

Y4

(Language Test !/s\f(eated only as a

©

qualifying test.fMarks obtained in
Languages testwill not been Included
in the Total Marks

\

2. gg wen 9 9 § B | ugl ueT H
50 U AR AT H 40 U § iR
TR AT H 90U € |

3. UAd YT Pl U 3P 2 |

¥

4. 9 59 ye-ud $ A gEil e forg
fuiRa g Hiffa g, SHPT
3BT AGUAT R =it
2 IR g GHY Wl F

5. %@'mﬁ&mfﬁm

b
6. IR, e W fEN N ysd & th

fdpca A6 9 B IRAT IR
LSO |

7. a! JR. e & g 2 W Hfeq/
S{IdR <|s|c4l/%1\s Dl YINT A Ebﬁ
CES IBSEE I"N{\'I gsf ST |

8. UAP YT A BINIU, 59 G H

PIS THRIHD b a1 © |

9. 9T YXIeTT § HIH U BT aYIF B |
HA YT 3hT H AT & DI BT Tl
SITST STRIAT |

Note:Do Fo[ write anything except the
Roll Number and rough work
anywhere in the booklet.
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PART-l (M)
MENTAL ABILITY TEST
difgsd arradr giamon

- z ‘\
Questions: 1 to 50 f' i)
‘-.
Q1 If in a certain code ADMIRE is | .1 afe fxft ‘@rs’ 8 ADMIRE @
written as AIDRME, then how AIDRME foret A SHBIS

would ADORES be written in the
same code?

(1) AODRSE
(2) ARDESO
(3) ARDEOS
(4) AREDOS

Q.2 Which group of letters is different
from others?

ol
(1) DCBFE
(2) JKIHL V4
(3) TSRQU \
4) uwxzy A4

Q3 If in a certain( code ‘facing
problems with health' is coded as
'mip hit n |§ k' 'rise with every
challenge is oﬁded as 'snk, rty, Ine
riy' facing c ge each day is
coded as 'ngifiy hop hus’. 'health
problems on rise' is coded as 'hlt
sartv mlp' then whose code can be
'ri snkmlp'eTl

/

(1) ¥ problems every day
(2)  With health day

(3) facing every challenge
(4) challenge with health

ADORES_ @J ﬁm’r‘m—w foran
% S e
(1) ,\AODRS

(2)
3)

ARDESO
ARDEOS
AREDOS

.2 Ry e el 4 | B
g 3 9 f4=1 €7

(1) DCBFE

2) JKIHL

(3) TSRQU

4) UWXZY

9.3 3Ife f&=f ‘@I’ ¥ 'facing problems
with health' @1 'mlp hit ngi snk' 9
ugf¥fa @R ‘'rise with every
challenge' @1 'snk, rtv, Ine riy’ 9
yefifa @R facing challenge each
day &1 'ngi riy nop hus' & ugf¥fa
P 'health problems onrise’ 1 'hit
sa rtv mlp' 9 yefRfa & @ feaa
'riy snk mlp' &S B Hdhdl 8

1) problems every day

2) with health day

3) facing every challenge
4) challenge with health

~ o~ o~ o~
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Q.4 A series of small letters is given
which follow a certain pattern.
However some letters are missing
from the series. You have to find
out the right set of letters from
alternatives that can be inserted
into the blanks of the series.

_a_b_abaa_bab_abb

(1) aaabb

(2) ababb

(3) babab

(4) babba
Directions: (Q.5-6)
The numbers have been arranged under
some rule. Based on that rule, which

number will come in place of the
question mark? 4 L

Q.5 445,221,109,53,25,11, 9‘:4

(1 2

<«
2) 4 "
+ L5
(3) 6 }
. v4
(4)" 8

Q.6" 6,15,35,77, 14!, ?

(1), 171
(2\‘181 )
(3).F 191

r
4) 221

9.4 3 qUiHTE B BT 3MERT Bt TP
qger €1 TS 7, ol ve fAfvea w9 b
T BB &R YWA | I & | &R
®1 U e g 9 Ry Ty Qe
# ¥ vifey, o= Raw i ot gfi
P T D |

t
_a_b_abaa_bab_abb Q‘ i

(1) aaabb /

2 ababb - |
(2) '

babib P 4
"r

(4) »'babba

9. 59 6)
i g & angrR ) for@ U g
S ® wwquﬁ-—ﬂ%

WWWHEBM?

u.5 445,221,109,53,25,11,?
(1) 2
(2) 4
3) 6
@) 8
u.6 6,15,35,77,143,2
(1) 171
2) 181
(3) 191

@) 221
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Directions : (Q.7-9)

In each of the following figures,
numbers are written according to some
patterns and one number is missing,
shown by question mark. Find the
missing number that replaces the
question mark.

Q7 o) (D<)
<3/
(1) 84
(2) 195
(3) 240
(4) 275
Q8 _ _
3 7 1
|62452||11760 8||412‘5_L
EERCIR ™
(1) 1 _‘.i
2) 2 <A
(3) ( ! “:‘
(4) 10 ' ~
Qo , 9 4,
( . 2d] %d 7
841 35| 12
'.r‘ 9179
(1% 15 }
(2)» }8
(3) 20
4) 25

Ade (.79 9)

= & 7 ue smefd § e [AftEa s
IR B Gy fordl 1€ 21 579 A
& g« g, oy g 9 gt
Tl gW 9= 99 ) Wl g e @

I IR S & | ’

9.7

9.8

9.9

b
L
|

%3,
f‘”l §
4

-

(1)) 84 ¥~
(‘2)5 195( ¥
(3) J240
\A) 275
{1, [7] 1]
L?‘Qﬁ'!{| |11 70 8| |4 -12 5|
4] [ © ] 7
(1 1
2) 2
3) 6
4) 10
2820 7
84135|12
45| 2 | 9
(1) 15
(2) 18
3) 20
4) 25
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Q.10 Find the letter to be placed in place
of "?"inthe figure given.

1 2 4 8

3 F C 6

5 J ? 3

(1)
(2
3)
4) R

Q.11 How many triangles are in the
given figure?

~—

M
L
N

1) 1

N
~
—_—
w

3

N
~
—_
(@)

(
(
(
(4)

Q. 1{Choose thec I-t:c}(mlrrorimage of

the figure (X) from four alternatives
gwen along with it. The mirror has
beén represc-:ated by aline MN.

AA A A

9.10 U v for § ueA araw foee (?)
P A G BIF AT &R IMTT?

1 2 4 8

3 F C 6

5 J ? ‘a\
L

2 4 |8 2| /|
1) M ‘rr | F
2) L 4 g
(3) N "l A\ 4

= G
1 éﬁ 311?5[%[ 4 Byl & "

2?

/
1) 11
2) 13
(3) 15
4) 17

U.12 MH (x) Bl YT § S@H TR Bl
faars &0, wu Ry v 9R e
¥ A 98 SR vifer| guur B Iw@
MN g1 wf3fa fban 2 |

Y| AA A A

N|

x ™M @ & @
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Q.13 A clock seen through a mirror
shows quarter past three. What is
the correct time?

(1) 945
(2) 9115
(3) 845
(4) 3:15
Q.14 Choose the correct water image of

the figure (X) from the four
alternatives given along with it.

0
E(1)
AP
o 4 €
'

~

4)

g

Q.15_Among all the alternatives marked
(1), (2), (3) an}*(‘:l\, select the one
which satisfies the same condition
of placement of the dot (s) as in Fig
(X)s

hiD € &R

(x) Mm@ 6

(4)

U.13 U TSl SUUl § @A UR 9HY A4l
T 9o i 1 =<t 9 w9 9wy
o)

(1) 945

(2) 9:15

(3) 845 ’

(4) 315 ar\
'.

914 AMHR (x) T # FER ), B
fears <, fag %Ir\'ﬁzwﬁ 4|
Wzﬁaﬁ‘\'tﬁ%mjr .

9.15 f3v 0 IR fawe (1), (2), (3) T (4)
H | B ¥t epfd W g Ol g
(x) # geIiT U gl & = @t
Rerfa | 91 @il 87

(x) (1) @ @
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Q.16 Choose the alternative which will
be formed after folding the fig (X)

Mol N

r

-

(X)
(1) A&Bonly
(2) B&Conly
(3) B&Donly
(4) A/B,CandD

Q.17 Four positions of a dice are shown
opposite to which face number 6
will appear.

S

(2) 3 A

(3) 4 =)

@ 5 f
Q.18 Two posmdn‘ of a dice are shown.

Which numbej ill appear on the
face opposite T ne having 37

(3) 5

4) 6

9.16 99 fawcy 3i Bifcy o & 718 safa
(x) ® TH 9 A HI$ 9 W U

=Sl
ki e

QT \VF

-

(X)
(1) I A& Be
2) FIEBAC ¢
B @?rc{B&p
' (4)”7 |A,B,CqIID
A7 T B IR Refadt *ars
I =1 6 BIF ¥ A= drel
a‘v*ﬁq'\ﬁaﬁﬁ?

GRS

(2) 3
Q) 4
(4) 5
9.18 UH T U™ @t 1 Reafaat fewars w8 &
B9 W A= 3 =T a1 BeAd D

fawdia grft?

(1)
(2)
3)
(4)

mmhm@
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Directions : (Q. 19 -20)

In each question two or three statements
followed by two conclusions numbered |
and Il are given. Decide which of the
given conclusions logically follows the
given statements disregarding
commonly known facts. Give answer:

(1) If only conclusion | follows
(2) If only conclusion Il follows
(3) If both I and Il follows

(4) If neither I nor Il follows

Q.19 Statements:
Some pencils are blankets.

All blankets are erasers.

‘ I
Conclusion: <

<

l. No eraseris a penca‘
-

IIl.  All blankets to'be pencils is
a possibility( L #)

%y

Q.20 Statements: : '

o
““All'stars are Bklis
(Some bottles {re apers
No’p'aper is a)balendar

Conclusion:

~ All stars to be papers is a
b'ossibility

1. No Calendar is a bottle.

fAder (9. 19 ¥ 20)

YA® U | &1 AT 9 HAH JAqT I 918
1 Aspd 19 1 Ry 7T &1 Beml &Y\
AFG §U 9 difore fb @ a1 faan w
fAepd fer T weFl B aifFe B W
Wm%lﬂﬁﬁﬁaﬁ,aw
f 21| SR Afe:- '\

(1) U%zﬁaaﬁwilawﬁwﬁ
(2) zr%a%aaﬁ&ﬁﬁur%wmﬁ%

(3) e 1 Grhy |9 1l B B
(4) R o Frpd | & Frend
SHYOT YAV |
19 | -
URrel ®re E1

ﬁ%?ﬁm%l

. B Ror IR T8 R
Il. G} el @ R 29 B T
T €
9.20 HY:-
W REAR dide 2
{B el PR B
PIg Wl BT DHorsY TEl B
frep -

I. 9 ORI & &Sl 81 @1 e
JRTGT 2|

Il. BIs Wt dol~ex, didd T8l 2|
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Q.21 Which one of the following
diagram best indicate the relation
ship among Tennis fans, Cricket

Players and students?

(1) (2) 3) (4)

Directions : (Q. 22 -23)

The questions are based on the
following diagrams. Study the diagrams
carefully and answer the questions.

Honest Advocates
&

A@
GK 4
Swimmers
' W (¢ European
-

Q.22,Whatis true foy
(1) AIl Hohest
s Swimmers.

@) All Hone;t Advocates who are

European

also.

swimme
(3)% All noh-European Advocates
> *vho are honest swimmers.

(4) All non-European who are
honest swimmers.

9.21 & 9 mafa < e, fhae
RaarS) a2 faenel & vy o 9

Torfe 27
(©0 @ &
4)

)
™) @ @ e

A} /1.

fAder (1. 229 23) ,,r , F

it v frafofg fom &% smenfRa 21

ﬁa@mﬁﬁ?mzﬁ%amu%ﬁzﬁ
a*n\ ,‘

rF

CEAK

N

E&
&)

9.22 Fo fore o 9<g 27
(1) | HMIR FRITUI AR |

(2) 9 HAFGR IHIA Sl A_TdH A

2 |

(3) I FR—PTIF g S
SHMCER RS ¢ |

4) I R RO 1 gAFER
AT & |
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Q.23 The advocates from Europe who
are dishonest swimmers is

denoted by?
1 J
(2) K
3) L
4) H

Directions : (Q. 24 to 25)

Radha is wife of Mohan. She has three
sons respectively as older - Suresh,
Rakesh and Satish. Bimla is only
daughter of Radha. She is youngest.
Name of their wives are Sudha, Savita
and Sita respectively. Mr Raghunath is
husband of Bimla. Suresh has two
daughters as Kamla and Sarla. He has a
son Deepak. Rakesh has three sons

namely as Sohan, Ramu and KeM

Satish has one son (Shrikant) éne
daughter (Shobha). Bimla hasjalso*one
son (Sagar) and one daughter{Sarika).

Q.24 Bimlais related toKanla as
1) Sister ( 1‘:
2) Aunt ., ‘ :

(

_ : ‘4
(3)" Niece

((4) Grand Mo;}

Q.25 How" many members are there in

thefamily?
(1) 16 )
(2) ¥ 18
3) fo
4) 20

¥.23 JRIY & qaiel Sl dSA ORId & Bl
ST ST B

(1 J

2) K .
(3) L (f
(4) H " /"

s
fAder (u. 24 9 25) wr d
wwﬁsﬂaﬁqﬁ%laﬁ%ﬂﬂmzﬁﬁ

?wm S S ?,ﬁo‘x’?l‘c#‘ﬂ%&ﬁ'\'
|ﬂm{mﬁa€aﬁﬁqw%|
Sl 21'SHe! ufel @AM

A gl afaan iR A 1 fdwen
afa RgTIA § | G B} I FsfbAr

P o ARl § 3R Th asdhl (S1ud) B
RTHI s Higd, I 9 dad § |
TN Bl T Tshl ‘b’ B AR TH

sy 21 fIuen A it td aTs@l
ARSI g Teh TSHI AFR 2 |

U.24 {39 &1 HH A 1 Y 27
(1) &7
(2) germ
(3) ol
(4) T

.25 URarR # §ol fham wew 87

(1) 16

2) 18
(3) 19
@) 20
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Q.26 B, the son of A was married to C,
whose sister D was married to E,
the brother of B. How D is related to
A?

(1) Sister
(2) Daughter-in-law
3)

(4)

Sister-in-law
Cousin

Q.27 Ram walks 20 metres in front in
east and 15 metres to the right.
Then every time turning to his left,
he walks 5, 30 and 25 metres

respectively.

How far is he from his starting
point and in which direction?

(1)
2) 10 metres, North

5 metres, South

Q.28

15 metres, North

"

(
(3)
(4) 20metres, East

(a) PxQmeans Qis mo&her of P;
(b) P+Qmeans P |s{fathfr of Q;
(c) P-Q mea.n} Pis brotherof Q;

(d)P Q meansQiis sister of P.
Which of the fallowing means ‘M is
niecgofT"?

Ve D+T
(2 T—D+R
(3) F TxD+R+M
4) D:M+R-T

el

12

4.26 B,A®I 91 § C ¥ Sa! wiel gs off,
fora®! 989 DA E @t wi<l g8 o, &t
BT UTS 21 DBT A | I A4 87

(1)
(2)
3)
(4)

CRGH
REELN
qrell
ECNER]

'R
)

9.27 '\rrqﬂmﬁggaﬁz(’:ﬂaqmr%aﬁ?
= 151ﬂa§m=ﬁdl%"~ﬂaﬁ'\f| =
enﬁ YSH P

/f

9.28

aﬁ'\'ZSﬁTE‘\'%I?'IﬂT%I

IR = A fba N R R

ﬁ?ﬂﬁ%l

o/ﬁﬂ,e?r\f
3 151%3?,3?1?
(4) 20¥ex, @
PxQ®1 31ef & Pl AT QR |
P+Q T 312 & Q&1 Pfar 21
P-Q 1 312f QT WIS PRI
P+QFI 3R 21 Pat Q¥ & |

fA=forfaa 9 A faer ad 2— T

P A ME”

(1)  M=D+TxR
(2) T-D+R+M
(3) TxD+R+M
4) D+M+R-T
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Q.30

Q.29 Six sides of a cube are coloured in

the following manner.

Blue range

o0

v
R Black |”

White

If Blue and Orange are opposite
and Red is on the top, which colour
will be atthe bottom?

(1) Black
(2) White
(3)

(4)
Eight students A, B, C, D, E, F, G
and H are going to college in two
cars and following are conditions -
There are four students in each

car. 4 \
A is in the same car in whiQ: is
sittingbutHis notin the s? ar

Orange

Yellow

B and C are not in the caF in which
D is sitting. <1
| #%
Fis sitting with Aad ¢
v’
Four students itting in the same
(carare

(1)

ef
(3)\1

(4)

/A.B,G H)
B.D.F.G
B.C,GH

AcDE

9.29

&

13

TS 999 & 6 §8 1 fora argaR <
feym el
Blue range
d W
e 1Y
White & Black I

'\
Ife Blue den Orange f?ﬁﬁ?l
U gl 91 Red IU3 y(;gﬁ
:ﬁﬁzﬁwwaﬁqﬁ?ﬂﬁmr

(1) Black . ™ 'K,

(2), whit > F
\ Oralfge (

Yellow
oft A,B,C,D,E,F,GqmH
I A Pleol 39 UPR o W@ 2|
qai'cﬁ H TR faeneff g

szﬁr\rﬁﬁa%ﬁmﬁ D 931 §
TR~J HSH R A -T& 2|

B9 C 99 R ¥ =81 8 for® D
JeT B

FS9 &R H 901 ® S99 AT E 33
gl

T & R 9 I3 IR fAemefi 21

(1) AB,GH

(2) B,D,F,G

(3) B,C,GH

(4) AC,D,E
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Q.31 There are four friends A, B, C and
D. One of them is a student of
Biology and plays football and
basket ball. A and B study
chemistry. A plays table tennis.
Both the chemistry student play
volleyball. D is the student of
physics. One chemistry student
also plays cricket. The Physics
students plays volleyball and
carom. All the friends play two
games and study one subject
each.

who does not play volleyball?
(1 A
(2) B
3) C
(4) D

27 small cubes are placedinsuch a
way that a big cube is formed? 4 <

¢
77
7 7

Q.32

b

A

How' many cubes are touching
cube marked

1y 5 }

(2)¥8

3 §

4) 17

9.31 A, B, C 91 D IR a5 € S9H At
Sita fas= &1 B & a1 Feard a
IRBE g1l Weldl & | AT B A
A 9o 21 A A Qe 21
S AR”IE IR & faenedt steflara
@Hﬁ%D‘lﬁﬁiﬁWW‘ﬁ'ﬂTQﬁg
T A I a1 faenedl, fhde
o ¥l difde wre @ e
dfellarel dem & @erd I!l?&zﬁ
ﬁaa@a@mf%amdﬁw

wediEl 4

@ wﬁz{av@@mﬁ?

(1

2 B

) C
D

9.32 2 éﬁaﬁsﬂwww%

TP g1 ¥4 99 oY |

v
A

A

fham =9 A g1 sifda w91 &1 et
PR E?

(1)
(2)
3)
4)

14
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Q.33 A ranks fifth in a class. B is eight
from the last. If C is sixth after A
and just in the middle of A and B.
How many students are there in

U.33 Uh P&l H A &1 ¥ di=di 21 B
3If~T9 A S R R 2 afe C,AQ
BS W R 92T AT B i 99 |

the class? 8 1 wen H g o faenefi €2
(1) 23 (1) 23
2) 24 (2) 24 « 4
(3) 25 (3) 25 _r"/ .
A} ¥
(4) 26 (4) 26 r >
Directions (Q 34-35) fadw (w. 34 9 35) v I
Six persons A, B, C, D, E and F are sitting ﬁ% A E ﬁgn F & ga #
forming a circle and facing towards ﬂg qd B B B
centre. B is betweer.l A.a_nd C, E is | B geIt C & S F o1 ¥ E,F
between F and D. F is sitting straight
opposite toAand rightto E. 4 9ol 81 F,AS die ar
o Ef A AR JSTR
Q.34 D is between which of the | .34 Tw a9 | D91 2?7
following pair? 4 \
(1) EF (1)
V4
(2) AE - (2) AE
A
(3) AB t( % (3) AB
@ cF o ) (4) CF
Q.35If_the posmé f B and E are | ¥.35 gfe BIAT E P 9 URER 9 QT
(interchangedi%ilso thatofC&D ST @1 C d D & 3 W 95 v
then D will be inh between which of ‘
?
the following phir? WY A1 D e g™ & = | B
M cB ) (1) CB
CNg ER (2) ED
(3) FD (3) FD
(4) FE (4) FE
15
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Q.36 How many quadrilaterals are there
in the given figure?

(1)
(2)
(3)
(4)
Q.37 Which one of the answer figure
would occupy the next position in

the problem figure. If they continue
inthe same order.

Problem figure

Answer figure

I I
1= Il =1l
(1) (2)

Q.38 Four figures Fave be&!n given, of
which thregae alike in some way
<“and one is different. Choose the

(odd one. "" \

3
&=

(4)

(1) 20 .\
(2) 22 €
3) 24 T\
(4) 26 § d 4

14.36 <1 713 @i | fa faveq gy« 87

9.37 uﬁmawﬁmmﬁaaﬁ
A ST S IR, SR Bt ¥
B G o art

(1) )

7.38 IR gpfadi & ¥ € R ¥ =
it faft g | A E SR
s smpfa =1 €1 =1 smafa o

Bifew|

I

™
~L

A

MF

(2)

3)

(4)

~

A

(1)

16

(2)

3)

(4)
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Q.39 Figure (X) is embedded in one of
the given four figures. Trace out
the correct alternatives.

e

(x) Mmn @ 6 @

Q.40 One segment of the given
design/pattern is missing. Select
the alternative which will complete
the design when placed on the
missing area.

Incomplete figure

Answers figures

(1) (2)

Q.41 The first unit contains fWo figures
and the second unit gontains one
figure and a question mark. Find
out which .one ‘of the answer
figures ShO‘Jld be 'placed at
guestion mar}

Problem figur,
([v.] =
v &) 2 mo|?

. D> (Val
A|‘swer figur;s
y\/ N Yy S

\ \%

e M3

Mm@ 3) (4)

>

9.39 fost (x) 3T v e aR o=l | |
fabt uep # ar: venfus fasam = 2
St fadeu vifeu|

X

(x) (1 @

g @

€

9.40 faT g T/ Sy X o
< 81 S99 aﬁgﬁq?g&a
WM R @ W A1,/
Pg@mezam 7

> f
a7
/\) &
fors
A

o () (2) 3) (4)

U.41 Ugell 1S ¥ <1 npfadt & 9 g
3PS H TP 3pfa den yed faeg|
o diforg f& SR smafaal & 4

D A EH[ U g & A W
il
TR Gt
v oy A Y
Q A M ?
~ D - (Val
SRRECICARD|
n (Val nJ g
A\ \V \V; A
& >3 >3 >|3>

Mm@ 3) (4)
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Q.42 Find the missing number in the
series.

1,2,2,4,16, ? ,65536
276
256
198

(4) o4

Q.43 Ifl+2=5
5+6=61
Then3+4=?
(1) 15
(2)
(3) 31
4) 34

4
Q.44 Figure below represent a bal c‘e
which symbolreplaces(?)

i L
AO 1 []
e . Y
6O 1 \aansn
A{\/\/\ ) 2 O
" r

M L] @0 60A &yAO

.42 § T 9@ HH A g G D
@iforg |
1,2,2,4,16, ? ,65536

(1)
(2)

276

256 1
(3) 198 "

4) 64 ( F

v.43 afe |+2 5 4 -
5+6= 61 ;,L J

/;'74 N

v.44 #é—ﬁﬁaﬁwgwm%‘%l

JevTaTad g (7) B I R B BT
forg <@ o A B

AO [ ]

/\

OL] JAVAVAVAVAN
/N

VAVAVAVAN ?2 O

M L] @0 60 &yAO
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Q.45 An application was received by the

office clerk in the afternoon of a
weekday. Next day he forwarded it
to the table of senior clerk who was
on leave that day. The senior clerk
next day evening put up the
application to the officer
concerned. The officer studied the
application and signed on the
same day i.e. Friday which day the
application was received by the
officer clerk?

(1) Tuesday
(2) Wednesday
(3) Monday

L
(4) Thursday < J
7

Q.46 A monkey climbs 10 metres at the

beginning of each hour and rest for
a while when He slips back 5
metres before l{e again starts
climbing in lt{e beginrﬁng of next

hour. If he§ rts climbing at 8 am,

<« at what-time

t ill he first touch the
(flag at50 metrT\'\om the ground?

(;"r4pm )
(2)l.,5pm .

(3) 6pm

(4) 7pm

19

9.45 Bl foifds gR1 ve urelAr o=

AWE @ U oA 919 SueR urw
foar m ome fdA Sw aRs
fofis & 91 ufta fear = & &
SAfdcagedi o aRw fefts
q orTel &9 W wen v wEiRE
ST B uwga fban q
1A U BT e fa Al
fes ewmer #) fAygafe gk o
q?gmaﬁsrmmf\wm
e U @ A drfe ol g
mfnq'\r F R e b ra?
1 .

) ga?n'\!
(3(,_.%1?
(4) deHddR

9.46 T 9% UAP O & P& | 10 Hiex

Tgdl & d1 Uh &l & ferw fasm
HIA & W] 3 g< & P& H
SIRT 9 ¥ Ugdl a8 5 Hier fhaa
ST 71 afe 98 8 991 UTe: e I
PR dl 50 Hex S @l B fhad
I 3} B AM?

(1) 4999
(2) 5991 9d
(3) 699 ™
(4) 7999
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Q.47 If AXB means A and B are of the
same age.

A+ B meansAis younger than B.
A-B means B is younger thanA.

Then Sham X Mohan — Reeta + Arif
means:

(1)
(2)
3)
(4)

If the digits 0,1, 2,3,4,5,6,7,8,9
are substituted by a, b, ¢, d, e, f, g,
h, i, j respectively so that 135 is
written as ace then

Reeta s the oldest

Reeta is the youngest
Arifis the youngest

Arifis younger than Sham
Q.48

(efxf—ba)+edis equal to:

(1) 2
(2) 3 .
(3) 4 9%
4) 5 4

Q.49 P, Q, R, S are four staterngrﬁs such
that

-
IfPis true, thean true:
IfQis true, thT: Ris tru‘e

If S is truejthen at least one of Q

-andesfaIs
(Then which \lhe following is

correct?

(1)

(2\’
(3) If atleast one of Q and r is false
fhen Sisfalse

IfP |stru  then Sis false

If Sis fa e both Q and R are
true

IfQis true then Sis true.

(4)

9.47 afd Ax B ARad ATAT B W 3
B
A+B A 9<d A,BY Bl B |
A-Bd a0 B,Ad BieT 21

@
?meﬁ%?-'\ﬂm+m§;ﬁﬁqﬁ
& : 1
DEREISEGESF I /"
(2) Wmﬁf{%l TF
(3) WW%V

(4) Wmﬁmél

ul%\o,1,2 3,45,6,7,8,9 371 P a,

& d. e f g h,ij g™l ueha o<
15ﬁacef%1’@'lﬁlﬂ1%l?—ﬁ
X f—ba) + ed T 2

/

() 4
@) 5
P,Q,R, SdR UA &+ &l fb

A

9.49

IR PAI TN QHEA B

IR QAT A RIT &
JTSTAIETANQ AMRAAFAN
PY Teh I &

a1 R=fafaa 4 9 o9 &1 Qe
e 7?

(1) IRPITE A SIAIE |

(2) I S3m™ B A QTR aHI
A 2 |

I QTAR § A HH I HH U
I 2 Tl SII B |

IR QAT A STAIR |

3)

(4)
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Q.50 Considera99 digit number created
by writing side by side the first fifty
four natural numbers as follows
12345678910111213...... 5354
The above number when divided

U.50 Ugell 54 UTmfad A@sl B Uh B
A1 TS forga U= 99 Ipl & JA=
=1 srgar o 1E T &
12345678910111213.....5354
SWRIT d&= P 8 A fawioa &=

by 8 will leave a remainder of R B B | "
<o
(1) 6 1) 6 ()
(2) 4 2) 4 "#/1'
(3) 2 (3) 2 ¢ F
4) O @) o 1 v
- - P
Questions: 51 to 90 PART-Il (wr-ll)
LANGUAGE TEST (18T Uiefon)
English Language =t wm
Note: Must fill Language Option of || HiT: . IR, ¥ie & 8 1% S 3
Page1 at Sr. No. 3 of O.M.R. Sheet T Y7 ﬁa—@m:ﬁ|
Directions : (@ 51 - 55) Read 4hg ﬁém:@@ﬁmmmaﬁm—

following passage and anstrthe
questions given after it: ) (

The manager of a well-known= firm was
interviewing applicants forg the post of a
night watchman he had veﬁ‘is,ed. He was
very hard of please afd ajways found
something wrong with each, man-one had
long hair, anotheg-rsﬁzll eyes, a third was
toothin and anothe tall.
F

Amang the applican mterviewed by the
manager for the post \1&13 one Ram Krishan.
He watched all this as he sat in the
verandahepatiently waiting for his turn to be
interviewed. He resolved to be prepared for
anythini;j/hen his tﬂrn came, all went well.
The manager found nothing wrong with his
appearanCegsize or constitution. He was
handsome, tall and strong. The manager
was really pleased to see such a well-built
youngman.

u.51 fA=feraa § 9 Sfera qui 2

(1 s

(2) s
@) s
4) =
4.52 ‘Adhed’ T A fhd ST &1 TR
Uk
(1) 9%
(2) 94
(3) 91
(4) =

21
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"Is your health sound?" said the manager at
last.

"No sir," replied Ram Kishan," not quite. |
suffer from one serious complaint”.

"What's that?" asked the manager sharply.
"Sleeplessness”, came the prompt reply.
The manager was so pleased with the
young man that without questioning him
further he appointed him.

Q.51 The manager always found
something wrong with each man.
This shows that he

(1) was not interested in selecting
any one forthe job.

(2) wanted flawless person for the
job.

(3) wanted the applicants to prove
themselves fit for the job.

(4) he had a habit of finding faults
with other.

Q.52 The manager rejected alh Jher
applicants for want of......

(1) goodlooks
(2)
(3) goodhealth ( ‘
(4) W|sdom'

Q.53 Which.- o‘t“h\following is

( incorrect? 4

-
vigilance « 2 N
-

Ram Krishan was ill and badly
neededlob for his treatment.

the manager did his job quite
responsibly and dedicatedly.
The other applicants were not
really suited for the job.

(4) Ram Kishan did not suffer from
any ailment.

u.53 fA=ferfaa 4 @ &9 91 v - ya
SIS 9§ 181 91 87

(1) =N
(2) e
(3) %Q:ﬁ 1
(4) #A=A C 5,

.54 QU oI B Iy @R igme
T ¢ Wr

(4) dre

9.56 iicll & Sl @®ve faus foa wa @
Sl BT B |

(1) AT

(2) HHIRI

(3) &%

(4) agAfe

9.57 ‘JATHA’ fhd GHRI BT ISEX01 2 |

(1) NG

(2) TgeN

(3) &=

(4) agAfe
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Q.54 Why did Ram Kishan say the he
suffered from sleeplessness.

(1) To test whether the manager
could fail him.

(2) To prove that he knew well what
his job required

(3) Toshowthathe washonestand
truthful

(4) To be frank and not to conceal
anything.

Q.55 Ram Kishan got the job because he
was?

(1) intelligentand polite
(2) poorandneedy

(3) handsome and healthy
(4) witty and watchful

Directions (Q 56 - 60) Read the
following passage and answer the
questions thatfollow : 4 \

The first sight of the Great wall o China
stretching along the mountairisg li a
gigantic snake is breath taking. ¥he thought
that comes to mind is what amazingly grand
structures have come with seemingly
limit less man power, The Kingdoms of the
5th Century BC builtithe earliest sections of
the wall. For thou,sri ds of years, the wall
protected China fro e barbarian attacks
The purpose of the LKa\\_/‘vjall was not only
to keep out the Huf{fro the North, but
also ‘their_ horses, as the Huns were
meffectwe as warrions without their horses.
Once inténded to wa d off enemies, today it

brings peoples oft world together. The
govern t is cashlng in on what is
undeni one of the greatest

achleveme s of civilization. A visit to
Beijing without a trip to the Great wall is
useless. Many tourists brave, young and

9.58 3OR v A= 4 A fby9 arrns &
fore ygea S B

(1) < gfte &1 a8

(2) SIAR H IMRAT G ATA
(3) RN IATAE 14
(4) %Iﬁasﬂﬁgamﬁevﬂf

y.50 =g § R (&' ve
[RGB |

(1) <rek ;:;H "‘;
@\ ety |
(3) (=TS
WGEE!
9.60 ° ﬁ?}ar—cz%ﬁﬁméﬁl CICS R
PR B |
(1)
(2) wuPp
(3) .IEm
(4) I°PD

61-64 fat v Re =1 4 waifdes sfa
fawea gfg|

Seirfeor § aRad 9gd d9 Bl B
(1) e
(2) URoHd:
(3) vHEfd
4) wife
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adventurous-set out to climb the Great wall
though the steep steps which become
dangerously, slippery whenitrains.

Q.56 The great wall is called a gigantic
snake because......

(1)

the Chinese people worship
shakes

the big snake lives oniit
it goes zigzag like a snake

it has the same designs as on
the back of the snake.

Q.57 What surprises a visitor most is

number of days in constructing
it

number of stones and bricks
used

number of people who built it

amount of money spenﬂQ
constructing. <

Q.58 The purpose of construiﬂng the
wallwas

' 2
to keep away\ie vliil_d animals
to keepe'way uns‘

. tokeep dway their enemies

to keep
horses

Iva Huns and their
Q.59 One‘indirect advantage of the wall
is. 7.

1 better pr!tection

(
(2) r'pore money
(3)

(4)

more fame

more visitors

.62 3Nenfie Qe & o anfdfes agfy
gril 8, gl & Ta<n ot s
B B
(1) ugyu
(2) BN
(3) HuTEIfd <\

(4) THemEe

.63 UHE Bd TIEM. .0
P WIS A

() TEFag

(2)\@@ -\
(3

4)

(3)
(4) AT

9.65 dIas IBTA &1 312 2|
(1) SIST F&ATH BRAT
(2) &N BT
(3) g &I BRAT
(4) TSI HIH BHIAT

9.66 9 51 Wi 3i1H 231 31 31ef 7
(1) << I | AT &7 31l
(2) AT HEYT AT

(3) M aTell A b | B |
sEERIE!

3UT JTY G & IR 7T

(4)
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Q.60 The words from the passage which
means the same as 'savage and
huge'are.....

(1)
(2)
3)
(4)
Directions : (Q 61 - 65) You are provided
with first (1) and last (6) parts of a
sentence. The remaining sentence is
broken in to four parts. labelled L,M,N
and O. Arrange these parts so as to form
a complete meaning ful sentence and

select the correct option of the
combinations given below:

Q.61 1.

greatand amazing

breath taking, amazing
amazingly and breath taking
barbarian and gigantic.

Sabina reached her house at
5 p.m.and
(L) then there was a huge
explosion
no sooner

(M)
(N) hadshegotoutofthet
(O) anditwentupinfla

6. Producing darkness ih‘he ky

(1) LMNO
(2) MLNO‘ ¥
(3) MNLO g
(4) NOML *
To mucdofthe world
(L) Whigh produces radio and
- television
(M) itis s,};;pe
(N) by aero planes and
satellites
7 (O) and which conquers space
Through Sophisticated
technology
¥ (1) MNLO
@) MLON
(3) LMNO
(4) NMOL

Q.62 1.

.67 ‘WTaF &R 7 Wil G &1 3k 7

(1)
(2)
)
(4)

9.68 3T

(@)

(2)
(3)

(4)

ST Wl A BT

g H g 3R g H g B
BHE U A1 &1
EGH eI &1

Eﬁej\asﬁaﬁnaﬂaﬁ?ﬂ\

")

R, ursy a¥id 3 & gA

=] < AHE S
9IS U I & I dR
AR 1 AhE S
grSY Uy 4R oS @ YA
AR 1 AhYE S
IGT b YA Wew Ui IR
Y 1 FADYE el
FAR 9 SR IR HThd g
TSR & T H S ugd
SER JER Wcdhd gY 9 AR
TSR & WA H S ugd
TAR 91 TSR & Wd H R
IR HThd gU Sl Ugd
TAR TSIRTA & Wd H $eR SR
HTohd gY Jd Sl Ugd
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Q.63

Q.64

Q.65

1.

It was

(L) grandeur

(M) the gigantic

(N) inside

(O) all

palace hall

(1) LMNO

(2) OMLN

(3) NMLO

(4) OLMN

In this stage of the world

(L) that their gross ignorance
of one another should be
diminished

(M) it is essential

(N) when many nations are
brought into close and vital
contacts for good and evil

(O) as never before

That they should begin to

understand a IittIe of

another's iu(!
ing

experiences and
mentality

(1) tMNO
(2) LONM < .
(3) LMON

{
Jl._‘

-

(4) L
If theisword fish really
attacke

(L) itcoJ have cutit
(M) and that would have been

*(N) topieces very quickly
7 (O) the

bber raft with its
vicious sword

the end of the experiment

~ (1) LMNO
2

) OMNL
(3) OLNM
(4) NMOL

U.71 ‘YA S9H] Srarg B~ fbd garR
cacicu gl

(1) SIS
(2) SeBMETD

(3) WaEdra® "
(4) HAdddrad (' .

u72vﬁﬁ€naﬁtrﬁma’m‘n% 'r\ﬁaﬂ
¥ v whe Bl & ag ale @
aﬁﬁmﬁaﬁ-_" Jql

4
41«\HW13WQ
ﬁmerrcm
©) Y qTeR
YWASERCER N EIERE

.73 Bl gId g § I@ifbd
H P9 A PR 2|

@)

(4) ¥
Ader: 74-75 Y@Wifea ug &1 Sfaa gata
AT B |
U.74 A9 P dad e wHfyg @ &
@ UT 21 8 U & |
(1) fawm
(2) 9gad
(3) WAl
(4) =T
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Directions : (Q 66 - 71) In the following
passage there are some numbered
blanks. Fill in the blanks by selecting the
most appropriate word for each blank
from the given options :

In the northern India, (66) in
Haryana and Punjab, the Arya Samaj had

(67) a campaign to eradicate (68)
evil of untouchability. The
Arya Samaj (69) recognize caste

distinctions. The onslaught (70)
untouchability was carried onin a more (71)
way by Mahatma Gandhi.

Q.66 (1)
(2) Generally
(3) Particularly
(4) Selectively

Specially

Q.67 (1) Started
(2) Launched
|
(3) Moved <
(4) Pushed ".‘
Q.68 (1) The | -
@ A 2\
(3) An . { (¢

(4) . Some“r}

Q.69.(1) Donot
((2) Doesnot’\‘

(3 *Was not

F Wlllnot)
Q.70 (1;\'
(2) With
(3)
)

(4 Agalnst

9.75 afR%M o Ashat 1 e |
(1) @
(2) PRI
Q) =
(4) eReE
e : 76-77 %@fﬁﬁrmwﬁﬂﬁaﬁn
AT B |
q76ﬂma%am§=ﬁ}r\'
gl

(1) &€ 4 y v

%’#%ﬁn

9.79

www.examrace.com



Q.71 (1) Collective

(2) Effective
(3) Selective
(4) Defective

Directions : (Q 72 - 77) In each of the
following questions out of the given
alternatives, choose the one which best
expresses the meaning of the idiom/
phrasesinitalics:

Q.72 He is disliked because of his habit
of 'making a mountain of a mole
hill.

(1) exaggerating

(2) boasting

(3) taking undue advantage of a
favourable opportunity

(4) giving great importance to
trifles

Q.73 We should give a 'wide berth' to
bad characters 4 \
(1) keepawayfrom
(2) publicly condemn ..‘ J
(3) give publicity '
(4)  notsympathise with
Q.74 Unless you 'gredse, f!i§ palm' he
willnotdoyourwork
(1)  threatenhim ‘
(2) flatterhiqt
~ (3)" beathim
((4) bribe him \\
Q.75 Despite beingj!under debt, Rohit
still 'keeps a good table’
(1~ / keeps up an outward show of
prosperi
(2, entertains his guests
- sumptuously
(3) Kelps his friends with money
(4) is lively and gay when his
friends call.

1.80 HRrarE fhw g a5t wafish g1
(1) 3Mcdra

(2) WD
(3) @
(4) SMgfIHDEE

9.81 ‘9IUIEE B SMHBAT'

Fig foart & el e
82‘F'94T IR fHaFl & AR
g H WA B & 98l dodhdrsll Bl

83 [ Husell § of fierm o) &, S9H
g fda = o T Jodmare & 84

IR AT @1 U wRar| sAfeTT TRt
85 AUSE B IR AT 7Td B TR

IR gRa 99 g A, IF W AR G
86 SEIGIRIN

.82 (1
2
3

N

N

3

)
)
)
)
)
)
)
4)

faamar
ERICIG]
RUGEIE!
CEGIE|
IA
Hfcad
E
Al

(
(
(
Y.83 (1
(
(
(
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Q.76 Agolden handshakeis a
payment

(1) received as an inducement to
leave job

received in advance for a new
job

received as a bribe inreturn ofa
favour.

(2)
)
(4)

Q.77 Ifyouareincloud nine,you are......
(1)
(2)

received as a prize.

extremely happy
utterly confused
(3) extremelynervous
(4) deeplyscared.

Directions : (Q 78 - 83) Complete each of
the following statement by selecting the
most suitable option from the list for the
corresponding gap. :

Q.78 Ifis unfortunate that.......
(1)
(2)
(3)
(4) yourpursewaslost

Q.79 Ishall notbe late for dl’nner .......
(1) |fthetra|n|sla(e ‘,,
(2) unlesst
(3)r unless ti‘e train is not late
(4') rain will not be late

unlessth
In order to raise the company's
profit, the employees.......

(s demanded two additional
increments

(2, decided to go on paid holiday

(3)» i:lecided to raise the cost of raw
aterial

9%

you lost your purse
you have lost your pursg

Vs

you lose your purse

trains'is late

Q.8

offered to work over time
without any compensation

(4)

fAder 1 87-90 fA=ferfRaa remer &1 ygHx

feg My Fﬁ?mﬂﬁﬁmrﬂw
HIfog| -
LEA] 98 gEs sRAel, '@l &

EAD—EAD D, Hedld &) 98 STA—GT,
HISel B g SI9—HTd, dAfeldred ®f a8 doll
3R TR, 31 AT AR AR w0 A i
ﬁaﬁﬁﬁquﬁé’rﬁwwgﬂaml
I8 SIMeral SIgH—<lad, 98 JiRahle YK,
<l o e T /A AR Wi A" Bl
AT 3R Wolled Bl 3faeR Aa Sirar | 3
SIS AT | WL, Sd! 3ifEl | gR W@
P AT BT, AR H 39 N8 g9 Uid Il
fé I WaR 7 B | ST TOR # 3R IS
3R WX G797 et | A9 RR R T =M
TATR—H] AT ATH BNl |

R Y S Hid &R faufy & 9/ 1 smed
A1E 3R AT & 999 H Sdsl I8dl §, #
HEHR AR Felhdl Whr Al We—ha Bl
fOREPIR 7 B Fha o7 |
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Q.81 Ishallsee him.......
(1) before I shallleave for England
(2) Dbefore | leave for England
(3) before I have left for England
(4) before | would be leaving for
England
Q.82 The doctor warns him that unless
he gives up smoking.......
(1)  willhe be able to recover
(2)  he will not suffer
(3) his health will
recovered
(4) hewillnotrecover
Q.83 WhenImetherlastyear.......
(1) she had married since five
years
she had been married for five
years

she was married five years ago

she had been married smce&ve
years.

Directions : (Q 84 - 87) In ealfthe
following sentences, out of thg given
alternatives, choose the dhe which
comes nearest to the meenlng to the
italic words: | 2%

Q.84 Repeated attacks on his'works has
rendered thel author ‘immune’ to
criticism. J

(1') exempt \\
hostile J

soon be

(2)

3)
(4)

_disturbin
(4~) insensitive
Q.85 The situation)is more ‘grave’ now
thaniteverwas.
(12\# dangerous
(2) 4 §erious
(3) complicated
(4) uncontrollable

4.87 TISH <9 @ o 91 & 1 § 4
B AT BRI TE &2

(1)  UTpidd AT BT AT
(2) W DI HARN

(3) UG YK ”
(4)  9TeT AW AT ‘q‘\

H88Hﬁmﬂﬁwﬂﬂzﬂ(m
a? ANG
(1) qu&ﬁﬂm«'

(2)\ wﬁﬁ ”CITEIGTFIT

asl‘léeraaﬂma—rmw
ARG BRI
T IR ISP BI T ek

fa@éé:ﬁg‘m

@) AP AIR Bl

(3) M TAIR A Wl

3

(4) fE=Iqarer g

9.90 Hid AR fauf o Jar fvwa o1 18
2?

1

(1) WeHR AR gSo!
(2) ®I8 3R AT
(3)
(4)

Wel—hg
I H STl
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Q.86 The value of some shares has
‘appreciated’ considerably in the
lasttwo months

(1) changed
(2) increased
(3) depreciated
(4) crashed

Q.87 The soldier displayed ‘exceptional’
courage and saved the Mayor from
the enemy

(1) new

(2) strange
(3) abnormal
(4) unusual

Directions : (Q 88 - 90) In each the
following sentences, choose the word
which is the opposite in meaning to the
word in italics, as used in the given
sentence.:

Q.88 People are unwilling to 'foIIowlﬂe
rules.

(1) forget
(2) disregard
(3) neglect <1
(4) dispose { 1~
Q.89 When Manju? ent'ere(s“the room,

<
i

shewasin a jubilant'mood.

“H1) ' depress C
( (2) defeated d\
(3) thoughtfu’

@) serious |

)
r
Q.90 Rahul is extr%nely 'intelligent’ but
proud. .
) -

(1 simple
(2) fgnorant
(3) dull

(4) weak
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PART-III (3 1-111)
SCHOLASTIC APTITUDE TEST
&P IIaT udieur

1

. R
Questions: 91 to 180 f‘
Q.91 The acceleration versus time | 9.91 ﬁﬂﬂ qHY Uh
graph of an object is as shown in figure. | 5 ﬁ'@'l'm T % |§g$ a-q q :ZRJ
The corresponding velocity - time graph T BT | :
of the objectis ,—
a[ s & a {

t /
m”b_, f E R L.
t t
A “\_
@ R (4)44"‘_{+ @ " R WVL

Q.92 The graph below ‘describe the | 9.92 =i faan ure T @t f:ft afas

motion of a ball rePouﬁdmg froma A W Has fdg 9 R den
horizontal su[;face belhg released Jde ¥ 9ifd 31 @t i) &1 <9Itan
from a point above the surface.
| P P %lwa%ky-m&lq?qa@ia?r&rﬁﬁ
( -y a y
> time W’
The quantity r‘epresented in the y- (1) ey
axis is the ball's
(1) displacement (2) 9
( ) acceleration ,
(4) momentum (4) W

32
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Q.93 A block is placed on a rough | 1.93 G¥&X &fial Wdg T& [e&l @ £
horizontal surface. A time T R AR a9 qren s g«
dependent horizontal force F=!(t F=kt o7 Idl & (\_ﬂﬁ kK @ T9r9®
acts on the block, where k is Reri® &
positive constant. Acceleration - ® &) a¥g DI TROT - HHY Pl
time graph of the block is T B |

1}
Q‘ <
A A A
a ‘ / a ‘ / a ‘ / a .../}' |
1. 2" 8/
» » » .1r- »
1. t 2 t t - | t
A —_— A o 1 8 J e
a a / a { | oY a{ F /

3 . HEY: A {4, .
: t t ks t Y, t
Q.94 White light is incident on the | w.94 éan ® {9 TRIGA ¥ gdd

interface of glass and air as sh firar & o= 5 = A
in the flgure. If green IlghQS ust frar T ¥ AR R use @

totally internally reflectec‘t en the . .
emerging ray in air contai ST gof 3”5”? ® URad @, @@
_ ga1 # ffa fawoi 2rtt:-
<4
%
! V| green B
( . glass e
1".’ J
(1\‘ yellow, ofange, red (1) Urell, HaRl, e
(2) ¥ violet, indigo, blue (2) SN, TRTSIE, SArel
(3) Rl colours exceptgreen (3) B I ffaRa It I
(4)  Allcolours (4) wdiw
33
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Q.95 A concave mirror is placed in a
horizontal table with its axis directed
vertically upwards. Let O be pole of the
mirror and C its centre of curvature. A
point object is placed at C. It has a real
image, also located at C. If the mirror is
now filled with water, the image will be

(1)

real and located at a point
between Cand O.

real and will remain at C.

real and located at point
between C and ec (infinity)

virtual and located at a point
between C and O.

Q.96 Four pendulums P, Q, R & S are
suspended from same elastic
support as shown in figure. Out of
these P and R are of the same
length. Q is smaller than P and h
longest. If the pendulum b8b
displaced to give smallvﬂimtlon

J
((1) amplitud of ibration for S is
maX|mu

(2), amplltud of vibration for R is
maX|mu

amplltu e of vibration for Q is
~ maximum

(4) gmplitude of vibration for all is
same

9.95 &fas A% 4R UH 3radd 9T I ®
o1 3181 FIR Pl MR 21 U7 Br
¢§d O AT C Ihell B Bl T fag
= C R R B, a1 arafas
ufdas Mt C W a97a1 B 1 afe dor &1
Il | WR 2 wie 99 ufafaw -

I BT 9T G ‘02% ey
ﬁﬂfﬁﬁr—gwaﬁﬂm ,

Wﬁzﬁgﬁmﬁw Cq'\f‘é‘raﬁﬂﬂ

arfae B GpTeC 9 I B
TR, f
STTRMENT qor ¢ 9 0 & wer
fored fovg o= 8

.96 | P, @, S 3R RAR A Al U &)
TR IR 9, AR dehr M £ |
Th A9 21 Q, P9 BITl

PHRW
den S TS Afdpad 21 AT P &l

fazenfia &< Biel Sidd BT WY, J9—

%

Tl BT MH S B forw
AfPaT B |
Tl BT IMmI™ R B forw
AP B |
Tl BT MM Q b forw
P TTS |
Al 1 M Il & forw
CREEES
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Q.97 The elongation of wire of length L
is ¢, in the case of figure (i). The

same wire elongation in case of
figure (ii) will be (Pulley is light)

L &

fig (i) fig (ii)
4¢
2¢

(1)
(2)
@) ¢

4) a2

Suppose universal gravitational
constant starts to decrease, then

1. length of the year will increase

Q.98

2.  earth will follow a spiral path of
dgcrgasmg radlu_s . ‘k

3. kinetic energy will remain
contant | J

4.  all of the above ‘i

Q.99 If a lens of focal length F is cut in
two equal parts shmeas

Q!>"‘

are put in c‘)ntact as shown in

_ flgure(l)anﬂﬁl)
~ " fig (.)’ fig (ii)
resultlng caI length of fig (i)
fE(II) will by
f12, 0
2) 0, f/2
(3) f,f

(4) 112, ec (infinity)

35

U.97 LTS & U dR &1 A i ¥ Ra=ma
Z%Isﬁﬁr\'iﬁﬁﬂﬁﬂ i ¥ fa=ma

L et

fer (i) f%mu) _.'

(1) 4¢
2) 2¢.

3ké

(4),. ¢2

J 9
F

'fl,

YH IS ad
Y Bl AHTS 96 SITTIT

Y gl gedl g5 B & fed
rgﬁaﬁqﬁﬁaﬁﬂ‘ﬁ
) TIfors Sott Rer =l
4, SR Al
fe 5 'F BIpd T B &9 B QA
TRIER 9T H AR &1e

f

9.99

<J[=>
den @ == (i) 9 (i) & AR
T B <, 99 = (i) 9 (i) Bt

ot wrea o @r-f
o= (i) for= (i)
(1) 2,0
(2) 0,f2
(3) ff
(4) f/2, oc (31I7)
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Q.100 A uniform wire when connected
directly across a 220V line
produces heat H per second. If
the wire is divided into n-parts
and all parts are connected in
parallel across a 220V line, the
heat produced per second will be

H/n
H/n?
n’H

(1)
()
)
(4)

9.100 Th & PHcaIThda H dR Bl
favaraR @ Sd A Sied W® HufA
Jdpvs Bl X | 91 Ya1 B B
Ife aR A wWER R ) Ry
ST 21 9 B S fAvaiaR @
I b 91 JGHIOR hH 9 oSl
mmuﬁﬁmaﬁ#*@m

J)
L]

a1 81 - 4

1) Hin r‘ >
2) Hin? N v/

)

Q.101 In the question below, a statement || 9.101 fev uea & ua wa (A) Fn
of assertion (A) is followed by (R) R mm g1 fRu
corresponding statement of A 9 Sip v sifky|
:Ietaesrg:tiv(:s) . cgcf)og;eth?"z ect o (A) ﬁmﬁ B t‘!%ﬁ 4
one ! <¢ A & W T B R, w

. }‘ . :
(A) To keep valuable Tstruments alIE & 9% # 4 N 8|
p val S @ (R) AR & IR gl B grdIg
away from earth's ‘magnetic field, : :
they are enclosed r ifoniboxes. 91 Xt BT BT PY <7 € |
(R) Iron boxes repel”the earth
magneticf‘i.elglines.
“ ) Ifboth assertion and reason are (1) IfS $U= 9 TH S I B, T
( true & rgasan is the correct dPb HAT B Hal IARYT HIdl
explanatign of assertion. =
‘(~2), If both assertion and reason are (2) I FHUF 9 TP S T Bl T
" true bu§ reason is not the TF P B b AT T8
correct explanation of &R |
assertion. _
(3;‘ Assertionis true, reason is false (3) P T &, TP NP T & |
(4) Assertionisfalse, reasonistrue (4) DUA Teld 2 d®b STh B |
36
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Q.102 A sphere, a cube and a thin
circular plate of same material
and mass, are heated to a
temerature of 200°C and allowed
tocool-

(1) Sphere will cool at fastest rate

Cube will cool at moderate rate

(2)

Plate will cool at slowest rate

3)

(4)

Rate of cooling will be same in
allthree.

Q.103 The pH value of 100 litre aqueous
solution containing 4 gram NaOH
is:

(1) 3 <
2) 9

"\
(3) 1 -l

(4)

-
a4 .8

L
Q.104 One mole o magne ium nitride

on reactioh ‘wth excess of water
glves !

( 1
(1) ,One moIe_Lfammonia

(i
(

) fwo moles of nitric acid

14

Two moI}s of ammonia

One moie of nitric acid

9.102 TH & U] 3 99 S D T
M, Th °9 9 T Udell I Bl
200°C P TH B SUST a1 & forw
Brs faar T, 99

(1) Tﬁ?{%é@%ﬁfﬁﬂ?sﬁw

BN
(2) ¥ & TS ‘aﬁﬁr a%’r SR
o /’
(3) wc & a%.-sqﬁi DR _{{31?1'5[
e A Y2
7. éﬁﬁ(zﬁgg?: &7 P <R T FAM
1z

1103100 Sttt faera= forad 4 9w
NaOH g &, &1 pH A1 81:

9.104 TP Hidd PR ASSISS S &l
3rfere A | fAfhaAT B 9= 2T
3
1) STHIRIT &7 Th 1A
(2) M & <1 A
3) Isfee 3% 1 U Hiel

4) ATEfe®H T & QI Al
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Q.105 Match the following:

Column-l Column-li

(A) Strongest
reducing
agentin
aqueous
solution

i. Thalium

Showsinert ii. Caesium

pair effect

(B)

(C) Forms iii. Lithium
peroxide on

heating with

excess of

oxygen

Usedin iv. Sodium

Photo cells

(D)

(1) A-lv, B-ll, C-I, D-ll

C-1V, D-II*Ig
Y

(3) Adll, B-ll, C-I, WDrIV

(2) A-ll, B,

4) A-ll, B-lvV, !Q"L D-llI
- _
i »
Q.106 The oxidation states f sulphure
in $O,%, S,0f and $,0,> follows
the order: 4

-— 3 J
( (1) S,0.7< S’J\\< S,0.”
'(2}‘3032'

(3) s,0.°

< jzof'< S,0,"
<§,0;"< SO,*

(4) $.0,"< 8,0,°< S0O,"

u.105 fA=ferfaa &1 e &

DicTH-Il DicTH-Il
(A) STl faera= i. oferam
¥ ydol
JTATID
POy
(B) 31fsha STt .fw}m
gyTg fe=grar 8 4
(C) 3TTeRATST Eﬁ‘,r i %rf&zm
1 TH FXA
) Al F
q g
. (D) EEN iv. AfSTH
' ¥ UanT ¥
SR STl &
yéA-Iv, B-ll, C-I, D-ll
ru A-ll, B-l, C-IV, D-ll
) A-lll, B-Il, C-l, D-IV
(4) A-ll, B-IvV, C-I, D-lll

9.106 SO,”, S,0, @ S,0,> # HWBX Pl
SUTIA AGRAT (0S) B MR Pl
L HH B
(1) 8,0, < 80,"< 8,0,"
(2) SO, < 8,0,”< §,0,"
(3) $,0,°<8,0,"< S0O,"

(4) 8,0,"< 8,0,"< 80O,"
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Q.107 About BF, , PF, and CIF, the
correct statementis:
(1)
(2)

All have similar shape.

BF, and PF, have similar
shapes but not C{F,

All have different shapes

3)

(4) PF, and ClF,have similar

shapes but not BF,

Q.108 Which of the following is
represented by general formula
CnH2n+20?

(1) Alcholsonly
(2) Bothalcohols and ethers
(3) Aldehydesonly

(4) BothAldehydes and Ketones

Q.109 About (A) CIOH, (B) KOH, ‘((‘&
Be(OH), the correct statement js
‘ }

(1) Allarebases ‘i

(2) (B) and (C) arq bases (A) is
acidic =

(3) (A)is acidic, 63 |S‘ba3|c, C)is
amphotei'lc

(4) (B) aNd4(C) are basic, (A) is

( = amphoteri
Q.110 Which of fhe following is

pndothermic- eaction?
) C(s)+0J(g)—>CO,(9)
(()ﬂ N, (9)+ @, (9)—>2NO(g)
(BN 2H,(g)+ O, (9)—>2H,0())
(4) 2CH,OH () +30,
2CO,(g) +4H,0 ()

(@9 —

39

9.107 BF,, PF, Td CIF, 9 WHfa Hgl
P B
(1) 4 B T MR B |
(2) BF,d PF, & 99 MG & UR
CUF, @ a1 |

wﬁaﬁeﬂwm ), 3R

3)

PFaCﬂF a%mgw %tr\f
BF, ! 78] |

(4)

9.108 A \’rlTﬁ?lEr A | crl:lz .0
ﬁﬂﬁr@aﬁ.ﬁmﬁhﬁﬁm%?
&aﬁam&ﬁm

(2) [T 9 AR QI

’

(3) dad 3fcsTISS

) fg@rgs 9 fber qri
{OH, (B) KOH, (C) Be(OH),¥
Wﬁ hAA %:

1) TR
(2) (B)3IR (C)&TR E, (A)3T=lT &

9.109

(3) (A) =T B, (B) &R & TT (C)
ISR ® 2 |

4) (B) 3R (C) &N &,
SFHICRG B

9.110 39 | DI ¥t fobar SwArendt 27
(1)  C(s)*+0,(9)—>CO,(9)
(2)  N(9)*+0,(9)—>2NO(9)
(3) 2H,(9)+0,(g)—>2H,0(0)

(4) 2CH,OH (l) +30, (g) —
2C0O,(g)+4H,0 (9

(A)
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Q.111 About (A) H,0,, (B) BaO,, (C) CO,
the correct statementis:\

(1) Both (A) and (B) are peroxides
but not (C).

(2) Allare peroxides

(3) (A) is peroxide but not (B) and
(C)

(4) (A) and (C) are peroxides but
not (B).

Q.112 In which of the following AgC! is
maximum soluble?

(1) water

(2) 0.1M HCt
%4

e,

Q.113 When 2 moles °f‘Nz gas and 9
moles of H, gasgare mixed and
reaction is comp teqtofrom NH,
gas then_reaction mixture will
contam '

(1) 11 molesﬂ

(2)— 4 moles af NH, + 3 moles of H,

(3) Ammonia

(4) 0.2M AgNO,

(k)’ 6 moles of NH, + 3 moles of H,

-
(4) Emoles of NH,+ 1 moleofN,

40

9.111 (A) H,0,, (B) BaO,, (C) CO, &

JHEIfRId el B &
(1) (A) T (B) TR3ATHRITES & W (C)
el |
(2) T RIS © | (t\
%q'\fsﬂm%W(yan
B r
@) (A) 3 () RIAHTES & R (B)
: :ra"u( | 2\ r
-!r\ ‘
12 | AgCl8iide goreficr &7
'(1) =

Ol)/l HC¢
6) st

'(4) 0.2M AgNO,

9.113 W9 2 " N, Td 9 |l H, 1 faen
# NH, S99 &t qui foban &1, @9
s~ fasor | f=ferfRaa gm:

(1) 1197 NH,

(2) 4H1dNH, + 3HIe H,
(3) 6@ NH, + 3 Al H,

(4) 29I NH, + 19 N,
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Q.114 Find out correct statement given
below

(a) Length of alimentary canal is
directly proportional to food
habit.

(b) Enzymes for digestion of
carbohydrates are not secreted
in gastricjuice.

(c)

In an organism different
engymes have different pH
optima.

(d) Absorption of nutrient occurs in
all parts of alimentary canal.

(1)
()
3)
(4)

Q.115 Formation of oxy haem?gébm
inside RBCsis a

a,d

a,b,c,d

i
(a) : 4

(b)

< (9 Enzym @ll;/zed reaction
( (d) Partial pregssure influenced
process

Physical probf

Chemic'z15 prociess‘{

ind out theforrect answer
(1) )
(2)
¥
(3)
(4)

a,b, c,
a,b
a,d

c,d

9.114 591 9 9 9= P gfhae?

(@) UrEH el B TS S DI
Gre 3Tedl @& FEOTH Bl

=

(b) SR T H cb|e||5|s§c P IA™
@ fore TrorgH = %H

(c) fasdt uoft & H Bl
SrferepaH ? ferq
3TeT— Eﬁﬁ“{%l

(d) W?i‘cﬁa%wfl}wﬁﬁq‘rw
1\%1 Eﬂﬁﬂ?ﬁwﬁ?ﬂ%l

(1) a,b
(2)
(3)‘, a,d

(74';) a,b,c,d

U115 Al ®fOR oforpei | MR
fRarTenfas a991 ve--

Aifae ufshar ©
AT ufshar &

U~ITSH &) Feradl I 819 dTol!
gfohar &

T & 3TR¥IF <ad & R IR
<& aTell Ufshan B |

HE IR gAY

(1)
(2)
3)
4)

a,c,d

a,b,c,
a,b
a,d
c,d

41

www.examrace.com



Q.116 Pain centres in human brain
differentiate between two
stimulii on basis of:-

(1) differences in threshold

stimulii

(2) differences in amplitude of
nerve implulses generated by
two different stimulii

(3) differences in frequency of
nerve impulses generated by
two different stimulii

(4) there are different neuron in
brain to receive different
stimulii e (

> |
Q.117 Testcrossisacross beﬁllee

(1)  One homozygous and another
heterozygm{s individual.

(2) Onedingividual ith recessive
b character,and another with
( dominait character of same

species

W

3) Two ei!dividuals of same

species, each homogygous
foracharacter.
"r

(4) Two homogygous individuals

foracharacter.

U.116 W4 ufass ¥ Rea dier o=,
faf=1 Sqa 4 A smaR wR
3R B B:-

(1) SIFi IFAT BT B3R AT
T f=1dT & MR R
|

2) 2 faf= seat \G?qr—v[

a%rcm iﬁrgﬂ—mﬁﬁ Eg

-;_’i Y 2

N
1ty @

\‘SCQCI‘II QAIRT 34~

mmws‘rﬁzﬁ

M4) fafrr ST @ fow
R R 0 G B

T A |
7117 tewRAE I R

(1) U HHYTHSD

ﬁmmﬂﬁzﬁ‘sﬁﬁ

(2) U®H WUl H Recessive 31
A H U (Dominant) 0T
g, 9 M UP & SId 9
FfRrd 8

(3) sF U & [u & fou
(%‘lﬁr\—rn's‘w) g g
Q?ﬁ‘z?r SITfa & grIfad 81

AY

(4) TP B YOI D QI AHYHD UTON
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Q.118 Which of the following satement
is true

(a) Viruses high mutability is
related to its nature of genetic
material

(b)

Bacteriophage evolved
before evolution of Bacteria.

(c)

Viruses infect only through
opening in the body of plants
and animals.

(d)

Viruses are obligatory
intracellular parasites.

a, b, c,

a&conly

a,b,c,d

M

a,c,donly

Q.119 Arrange followﬂ"ig in the
sequence. (¢

(a) Mutatio |
i

| @
( (b) Réprodug&ﬁisolation

(c) Natural Sglection

(a)r EvqutioJ
c,d

d,c,b,a
a,c,b,d
c,b,a,d

@

U.118 394 | DIF 91 B I &:

(a) faurogell # o1 =gewd &
PR D T A H [
2 |
1

(b) IFERATETS, GeH i Q TE
U1 gy |

-

(¢
(d)' foumy Saar PIRET B IR
&+ Tl TSI 2 |

(1)
r__iZ_)/ a&conly
(3) a,b,c,d

S

a,b,c,

a,c,donly

9.119 3= &) %9 | s

o

(a) T<TA (SRad)

(b) = uonfadi # uoE A

HRH ITT (UST= 3Tl Td)

(c) i =

C)REEaER!
(1) a,b,c,d
(2) d,c,b,a
3)
(4)

a,c,b,d
c,b,a,d
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Q.120 Match the following 9.120 7= &1 98 e sifore
Coloumn-| Coloumn-li PicTH-l Picq-1l
(1) COIOr Ce||S (a) Coelentrate (1) Cb(’d‘{ cbllrglcbl (a) ‘{‘ﬁ("i";dl
(2) Diploblast  (b) Porifera (2) fSllRe  (b) URIBI
(3) Closed (c) Echinodermata (3) FANT R (c) SHISATSIHCT
circulatory IR a5
system (d) Annelida (d) UfSfarsT
(4) Water (e) Arthropoda (4) drex () Sﬂw‘;ﬂ
vascular system IR R T - / \
Nl ‘ r J
(1) 1-a, 2-b, 3-c, 4-d (1) 1o, 2o, 4 I':
(2) 1-a,2-b,3-c,4-e (2) 1-a,2¢b,3-c,4de
i |
(3)  1-b,2-a,3-e4-c (3)« 1:b,2-a, 3-g74-c
4)  1-a,2-b,3-e,4c L4 @ (1a2b,3e4c
Q.121 which of the following plant | g.421 74 JA 'dA A urey T
disease can be controlled by | ufthal A @y Bl o
chemical control &
(1) Viral disease & &
(2) Diseases caused by NN
nematodes ‘& Sff S (Freces)
(3) Fungal disease < 3) e Sifd
(4) All of these V4 (4) STRIT FH
Q.122 Assertion:- Photosynthesis in | ¥.122 &:- & YT H UBTI GIAY]
minimum in greenlight a9 B9 B
Reason:- ‘_,' PRUL:-
Chlorophylls are! green in S :
colour. 41 ?gﬁéﬂmwwm%
< Direction:- " . s
( (1) Both \e§ion and reason (1) P¥7 9 DRI M FA
are truefand reason is correct g HRY, HAUF B Fal
» . explanation of assertion. AT B |
»(2)" Both gssertion and reason (2) ®UF I BRU G A B |
' are tr} but reason is not W BNV B B AE
correct explanation of !
assertion. TEIE
(8) _Assertion is true but reason is (3) P W B| WY BRO
False. TeAd & |
(4) Assertion is false but reason (4) U TAd B UN— PRI
is true qEre |
44
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X

Q123 P Q

RRYY

03

rryy

step | l
Gamets RY step T ry
RrYy

(Round Yellow)

seed

F1© X OF1

Round yellow
seed

wrinkled
green
seed

RrYy RrYy
Gamets RY Ry ry ry
v v v !
Round Round Wrinkled  Wrinkled
Yellow Green Yellow Green
Which law is depicted by“hﬁ
above cross?

(1) Law of Dominance ," J
(2. Law of Segregation . A
(3) Law of Independen_tﬁ\ssortment

(4) Allthe three

Q.124 Populatlor}sue is ccgntrolled by
(1) Death raiib‘

(2) Birth rate ,\g
((3 Demograph! transition

(4) Carrying ca

1 F l.

acity of Environment

Q.125 Hydrophoni
(1) Growing of/aquatic plants
(2) rowmg of floating aquatic plants

(3) Son'less cultivation of plants

(4) Growing of plants inside water

45

9.123 P Q X gzg
RRYY rryy
N step |
q&
B el
e RY step II.,lry
Tﬁ?{ﬁ Eﬁﬁ &
F1< > >;
RrYy RrYy

Mt del Tﬁa%% RER  3RER
gvméwaﬁqwﬁuﬂa';ﬁ%m

(@) vHTE! ST T FEH
2) fApadl S @1 Ul &
3TETT—3TeT 811 BT 1\
(3) Yd= g &1 a4
(4) STRIad a1 |
U.124 S B [ |/ BIF A1 FRS
Plel Bl 8 ?

(4) TTATERYT B &
U.125 TEQIBI 2-
(1) 91 H§ Uy S drel Uiei @
SHIGH
(2) ™I R AR aTel diel BT ST
(3) et fza digi &1 I Bl
GERIED

(4) T & 3TER WIEl Bl ST
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Q.126 Of the following four numbers the
largestis:

(1) 3
@ 7
@ (17"
@) @)

Q.127 The sum of 18 consecutive
natural numbers is a perfect
square. The smallest possible
value of this sumis

(1) 144
(2) 169
(3) 225
(4) 289
Q.128 The sum

1 2 3
1+1°+1* 1+2 +2° 1+3 +3* i(

— 9 lies betv»‘e‘n{‘

1+99°+99°"

) 0.46and0.47, 4 4
(2) 0.47and0.48( ""j
(3) 048andp 49 )
L(4) 0.49 ahal 50

Q1£) If x*-x-1=0, re the value of

X -2x+1 is

()% )

U.126 9= G&=ish 4 A 999 91 9=A1 8

2

(1) 3

(2) 7°
(3) (17)™
(4) 31)*

<
9.127 18 AN U mﬁiﬁl!ﬁw

Th qui o B 3g A zryégﬂmn
maqﬁ% r ! 4

(1) 144 T )
2 169%a N  F
\ﬁreé_225(
' (4) |oso
v.128|

12/4+
1

2 . 3
1+2°42*  1+3%+3°

(1) 0.46 3R 0.47
(2) 0.4731%0.48
(3) 0.4831R0.49
(4) 0.4931R0.50
9.129 I} x*-x-1=08, @ X’-2x + 1 Bl

e
(1) 0

(2) 2

&

1+

3)

4) -

l\)‘al N

46
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Q.130 If x and y are two positive real
numbers such that their sum is
one, then the maximum value of
x'y +xy'is

1
M 5
1
@
1
©G) 73
1
@ 6

Q131 Ifx% ofyis equal to 1% of z, y%
of z is equal to 1% of x and z% of
x is equal to 1% of y, then the
value of xy +yz +zx is
(1 1
2) 2
3) 3 “@{
(4) 4 {

V4

Q.132 The value of -
2({2+{6) = J‘_&
—————+ {2483,V 2-{3
342 +3 ( ‘}
is ‘ *

) - M
( 1)
4 + 36
.2 =
>
3 3+ {6
4
-
(4) 4-3J6
3

9.130 IR x 3R y T T Hd aR<fdd
Tl 39 UBR B fF S5 e @
TP B, 99 x'y + xy* &1 SffAHaH

A 8

1) &

@ X .',‘\
1 - y I

@ L ap i)
. ASINL

(4) ﬁ'!i >

9131, &y X % SRTER ¥ 2 BT 1%, 2
"B y% 2, X BT 1% AR x B
2% SRTER B y 31 1% a9 xy +yz +
zX &1 9 8

)

3)

1
2
3

F @) 4

22 +{6)
3{2+J3

T HME B
1) 3+416

+y2+{3 +{2-J3

@ B

47
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Q.133 The unit's digit of the product
31001 X 71002 X 131003
is
(1 1
(2)
(3)
(4)

The perimeters of a reqular
hexagon and a square are equal.
The ratio of the area of the
square to the area of the
hexagonis

(1 3:J2
(2) 2:3J3
@) 1:{3
4) 3:2(3

If a,, a, a,,...

© N w

Q.134

¢4
9
Q.135 Vs
. . 41 !
is an arithmetic, fprogressmn
with common differerbe 1

98 Y

and X a’ii137,then

i=1

( )
the value of{z\+!4 +a,+....+a,

i is-r

A o7 )

83

@) F 93

(4) 98

48

94.133  JUAEBA 3 x 7% x 13"°°H sPIg

&1 3P 87
(1 1
2) 3
« X
@) 7 €
@ o apT )
u.134 f&<dit mgarsﬁ'\' TH r;ﬁ D

qRETITHEA § | a7l B B SR
&y H
\1. {c’ﬁ\“ﬂf» ‘Tb_c'l H

(1 3:J2

) 2:3J3

(1).1’1 {3
(4)

3:2J3

9.135 3afT a, a, a,..

T FHaR Aot @ rae ardarar

98
z
i=1
2, d9a,+a,+a, +....+a,, ol 71

130R a,=137

67
83
93

98
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Q.136

Q.137

Q.138

“then t1he valu

P R

®

ABCD is arectangle with AD =10
cm. Semicircles are drawn on
AD and BC If the shaded area is
100 cm? then the shortest
distance (in cm) between the
semicirclesis

(1) 257x A& b
(2) 57

(3) 257m+5

@4) 257m-25 ¢

In the figure, the area of square
ABCD is 4 cm®and E any pointon
AB. F, G, H and K are the mid
point of DE, CF, DG, and CH
respectively. The are of AKDC is

(1)

4 Loeom

in
Y
If P+{3 Q +J‘f R+415 S

Y .‘.»

fPis

()

ﬁ)
11 o

3

@ 7

BN

—~
N
N

:|\1

49

9.136

9.137

9.138

. /1

ABCD U% 311ad & forid AD =10
| 2 iR AD @21 BC WR 3iefqa
i v g1 afe srfea 8w
100 ¥+ * 81 @1 srefgdl & 94 Hi
A I ([ H) 7 ?

1) 257 Ag é
2 %

3

D

57
25T +5 4 »

257 - 25(8 F ©

3 H) qﬁABdD‘ma}rm4

ﬁwﬁ IR E, AB IR ws fig ¥

G, H '8k K s#e: DE, CF, DG,

CH & meafdg &1 A KDC @1
g

) L @-]ﬁ-z
|

2 4
16 Rkl D C

(1)
(@)
3)
(4)

Qe

s P+i3 Q +{5 R+{15 S

i} 1
1+{3+[5

LA PHIHE ?

—~ —_~
w —_
-~ ~
=l ! —

N N [ RN N

—_~
D
N

=~
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If sec’® +tan’0=2,0°<6 < 90°
then the value of cosec’6 + cot’@
is

(1)
(2)
(3)
4) 5

If the roots of p X* + 2qx + r=o
and qx* -2Jpr x + q = o are
simultaneously real, than

(1)
()

A WODN

p=q,r #o
2q = pr
@) pr=qd

4)  2p=aqr

If a right circular cone, with slant
height ¢ , and a right circular
cylinder have the same radi%
same total surface area

heights h and h respati;
then

ly,

)

-

Q- —
Jo+r ~
h/h

2h/h
h/2h '

Y 4

2h/h

(1) o2
(2) ( ‘
(3)
i) ,\
Q.142 AABC hasv}rtl esA(-4,1),B (2,-

»1).and C (1;k). The number of

possible values for k such that
the triangle Is isoscles is

1) 1

( 3
3)F 5
4) 4

50

9.139

9.140

9.141)

Ife sec’® +tan’6=2,0°<6<90°
g1, dl cosec’d + cot’0PhT A1 &

1) 2

2 3

(3) 4 v
.

4) 5 " N'

afe px*+2qx + =0 AR

qx’ -2 [prx + q 70 ® oI U 1
Eﬂﬁﬁﬂsgﬁ?ﬁf . QF;
(1) ..p'q,r?‘:dfr
1‘&) &q ‘I_r
. G pr=q’
( 2p =Jar
Th o9 g v, forel
ﬁﬁmméc%sﬁ?waaqﬁu
P T B r, R JHE
FA I TG qAT IAD
¢ SISyl PUYM: h3AR K 8, 79
L-r _
0+
(1) h/h
(2) 2h/h
(3) h/2h
(4) 2h/n

9.142

A(-4,1), B (2,-1) 3R C (1,k) By=
ABC & 0¥ & k & \wa A1 @t
w1 o™i A ABC Ua wHfgdrg
By e, =g
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Q.143

Q.144

Q.145

Risw

In a class of boys and girls, an
student is chosen at random. If
the probability that a boy is
chosen is Z of the probability
that a girl is chosen, the ratio of
the number of boys to the total
number of students is the class
is

(1) 1:3
(2)
3)
(4)

2:5
3:5
2:3

In the figure, DB is a diagonal of
rectangle ABCD and line ¢
through A and line m through C
divide DB in three equal parts
each of length 1 cm and are
perpendicular to DB Areag(in
cm’) of rectangle ABCD is

)
One of the f;tors of x*+10x*-27

X - X}3

X=x-3
2
X+ x-3

X+ x+3

51

9143 TS &l 4 Y dsd d TP
Isfdat &1 S | uw faeneft &
AIgeBd g1 91l 2 | Ife oI &
g1 W o aRE dsdt @ gA
9N @ wfed w1 2 @, @
APl Dl A B BN B Wi
faenfefai o s @ argtng &7

L]

» ")
F

(1) 1:3 »
?) ¢

3 xsid N7

2:5

1\ r
) 2{.3‘;
144 Y 3mad ABCD &1 DB U
AR IG (IR C A
R Wl m, DB &I 9 IRIER
qﬂﬁﬁ,ﬂﬁ?ﬁ%ﬁﬁﬁﬁﬂ?&zﬁﬂm
fqrs 1 9 21 3R DB WX <9
il 81 G ABCD &1 &FA%Bd

¢ (AN

2{2
243
32 o ¢
\ﬂ m
4) 33
9.145 x°+10x*-27 F1 U@ UGS §

(1)
(2)

A

X-x+3
X- x-3
X+ x-3

X+ x+3
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Q.146 What was the theme of the
Printing of Frederic Sorrieu

(1) Democratic
(2)  Socialistic

(3) Capitalistic
(4) Noneofabove

Q.147 Germany was unifiedin

(1) 1870
2) 1871
(3) 1872
4) 1873

Q.148 Who said, "When France
sneezes the rest of the Europe
catches cold"

(1)  Garibaldi

- 4@
(2) Mazzini '\J
(3)  Matternich Vi
(4) Bismarck -

s 2
' &
Q.149 Who was Paul Qernard‘?

(1) Econ@must
@) .Sotidl Worker

( '(3) Soma;’?d{mer

Capitalist

Q150 hich the foIIowmg was the
ost lmp ant cash crop of

ietham:-
Sugarcane
( Cotton
(3) Rice
(4) Tea

52

9.146 Wwsfe Wy @t ufda &1 g=
fawa @ om:-
(1) USITd=
(2) \HSEE
(3) oftare .
(4) Eﬁ@laﬁs‘ﬂé’i*(*;
5147 St 1 ooty e e ad
8o ¢y 77
(1) 1870 T 4 4/
@ TBEN. F
) 1€7g;
. (4) 1873
.148\ veg fheq e 'S WIE Bl
® AN T Fﬁ |¥qul g9 Bl
TR e
(2 A
(3) #fgfre
4) =D
9.149 Ufd 9T $IF A?
(1) <rfemeh

9.150

(2) HEIRT® BRIG

(3) AN GUR®

(4)  offa

fAgaam ot Jwdt (He) wad
A= d A o= -

(1) =

(2) HUN
(3) =Ed
(4) =ma
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Q.151 Why was non cooperation
movement called off by Gandhiji

(1)

(2)

3)

(4)

Due to chauri-chaura
violence

Due to protest against
British Empire

Due to opposition of Muslim
League

Due to British Pressure

Q.152 The Jallianwala Bagh incident
placeon

(1)
(2)
©)
(4)

13" April 1910
13" April 1912
13" April 1917
13" April 1919

Q.153 The Poona Pact was sigaee
between and

batten«
Q.154 Who said.!"Printing
p ultimate gi

'»g.reatest onI“.

(1)
(2)
3)

(4)

1)
(

F
3)

(4)

Jawahar Lal Nehry ~¢ J
Mothilal Nehru _ A

Mahatma Gapdhi - Lord
Irwin < . %

i . \
Mahatma 'Ga
Ambédkar

i - B. R

,Mé{ﬁtma Gandhi - Mount

is the
of God and the

Charles Dickens
J.V.Schely
Mahatma Gandhi

Martin Luther

9.151

Tiehiol 3 A=A er<Ie A=

fra R Q4 | fhan:-

(1)

AR AR TITHTS

ST ISP B AR §
AR T & RRIY
ﬁ?\'}g‘w

gt Sl

9.152 Trrr%mizn?rma; aﬂr\;fem e ad

'.1 aﬂﬁ!-( (a
@) 133WeT1910
(2) 133WT1912
) 1331917

‘(4 A33U1919

9.153
M

(2)
3)

(4)

g1 Uoe e fda & S dren

STaTeN <l 8% @ Jidl) <ITol

TEH

qgTeA] 71 9 TS gefae

eI T 9 9 TR,
ISP

eI 7iel g ATShe 9

9.154 3 fbaq ®a1, 'qE0 SR B QA
g% HEMTH o4 § 901 99 | Fs1
qrgwT’ ' ?

(1)
(2)
3)
(4)

Iqred b=
NGRS
HETAT T
AT 2R
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Q.155 Who amongst the following
ruled over Sardinia-Pied mont
during the middle of the
nineteenth century.

(1)  Austrian Habsburg
(2) Italian Princely house
(3) Pope

(4) Bourbonkings of spain

Q.156 Which of the following
Countries has briefest
constitution?

(1) USA
(2) China
(3) India
(4) Japan
Q.157 Who is known as Frontier

Gandhi?

(1) M.A. Jinha

(2) Khan Abdul Gaffar Kha * &
(3)  Shekh Abdulla “

(4)  Liakat Ali @

Q.158 Which of the [following
statementis trUJabeu_t India?

(1) India'ié a Unitarly'System
(2)  Indig-has true federal
<% _system
( (3) India ijh)pn of states
. (4)_ India is confederation

of Planning!{Commission?
1) P. Chidambaram

( Montek Singh Ahluwalia

(3) © Trilok Singh

(4) Jai Pal Reddy

Q.159 *Who is at pjesent Dy. Chairman

U.155 SIAdl AT & Aeghial § A=
¥ § P19 WRfSHH - UsHSHe )
I B -
(1) SR g=da

(2) STl B oI
(3) dm
(4) @m@eﬁq—sh:{ /
u156 = § @ fbw 2w Eb‘l?ﬁi—ﬂ:[
I Y B7 _r
(1) a2
~'-!rQ) ?ﬁ{:[ ‘
() wre”
@) SaE
ﬁﬁ?ﬂmﬁﬁ%ﬁﬁﬂqﬁﬁl

'M‘ é T et
2) CIE| 3166'&01 NIRRT

(3) I Ageel
(4) forgred arell
9158 /1 d 4 WRa @ fow @F W@
HUF e 87
(1) ¥R ¥ UPhrcHD Javel 2 |
(2) ARA H ey AUTHS
AT ¥ |
(3) HRd RSAT BT B ¢ |
(4) ¥RA UH HENH B |
9.159 aodue # 9 9 | Ao sma
BT IUTEIE] B 87
(1) 9. Rew==E|
(2) Ar<d g Ee@rer
3) fras Ris
(4) STIUTA XSS!

9.157
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Q.160

Q.161

Q.162

Q.163

E_8)

Q.164

ek

“Which of

Which of the following
amendement is known as Anti-
defection Law

(1) 42~
(2) 44"
(3) 52"
4) 61"
What were the two basis of

backwardness under Mandal
Commission?

(1)
(2)
3)
(4)
Who was known as Grand Old
Man of India?

(1)

Dada Bhai Nauroji
(2)
(3)

G.K. Gokhle Py
Feroj Shah Mehta ‘k
(4) S.N. Benergy ‘: J
Which of the followingris not true
about FundamenthBights?
-
(1)
(2)

Social and Educational
Social and Economic
Cultural and Religious
Linguistic and Religious

These are gbselute.

paqr constitution

"At pr t they are six in
numbvyL \

They were taken from USA.

Thes} are giv\erhn third

e following is the
mallest administrative unit in
ralarea?

(# _ Municipal Committee

(2) ¥ Panchayat Samiti

(3) Village Panchayat

(4) Zila Parishad

9.160

9.161

15 B A s B 1 0 I G
Tl 9o faRieht ST Feeman 87

(1)
(2)

424t
447t
(3) 52dl
(4) 614 4
el e B e ,}'?!a‘p*aﬁ
g R F 9 ? [

(1) ﬂwﬁzﬁzrﬁaﬁ@ F
(2) wf%a?ﬁa

L ® 'a

A

4

9.163

9.164

@) mmﬁawﬁ-‘ras
mﬂquamﬁﬁ%ﬁr

mﬂﬁ:ﬁﬁvﬁ
Wg_ﬁwﬁ@é

ﬁﬂﬁasﬂ—s’ﬁ%m

T, T, g1

A= 9 9 Hifers AfYPRI & ==
Y B9 A1 BAF & T8l 27

(1) AT

(2) I Gfea™ & TR 91T H
T E |

59 HY 376 GE&A16 © |
Y ARPT & Afag A fory
T E |

=1 4 9 arflo &3 4 o= W@
e B yemafae $arE 87
(1) T RYTeTHT

(2) YaErad |

(3) UM UTd

(4). ot uRyg

3)

3)
(4)

55
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Q.165 Which is not true about R.T.I.
(Right to Information)?

(1)

It empowers people.

(2)
©)

It promotes transparency

It promotes good
governance

(4) Itis against bureaucracy
Q.166 Make the eight pairs.

A. Acoldcurrent (i) Benguela
B. Awarm current (if) Mozamque
C. Acurrentnot (iii) Peruvian
flowinginAtlantic current
ocean
D. Acurrentthat (iv) Agulhas
flows along
south-east coast
of Africa

(1)
(2)

A<i) BA(i) C(ii) D-()
B-(i) C-(ii) D-(iii){x-')
(3)  A(iii) B-(i) C~(iv) 4D-(ii)
@A) B (G-l D)
Q.167 Contour lines re(preéent
(1) Are recording same

a
amgt%t of rainfall
Areas %g same degree
of tempgrature

Areas} having same height
abovelmean sealevel

{ @

(@)

S”) Areas receiving same

* g amount of sunlight

56

9.165 @A B AAPR & WY H =

# A AE BUH TE B

(1) T8 Ifeaal Bl e Bl
2 |

(2) & YRR BT I & |

(3) TE AT B dQIci 8 |

(4) u%':ﬁaﬂwé‘rzﬁﬁ'%’ﬁl

1.166 ﬂ?ﬁg"’qmlr

A. T® SUSHURT oég@n
B Th TH ey A ) AISATID

- BEey b

. | & SfAoLgEl  (iv) SF[eIRN
7maag=‘lmrvﬁum

[g.). A Bi) D-(iv)
(2)

(

B-(i) C-(ii) A-(iv)

" (3)  A-ii) B-(i) D-(ii)
(4) A<

iv) B-(ii) D-(i)
U.167 HITd IW@C S9N & —

(1) I @ FHH ATST SOl B
qTel AT P |

-

1
\%

~(iii)
-(iii)
-(iv)
C-(iii)

SIECIERCaRR kI G RS RIS
PR dTel AT P |

A W dd 9 |AM
TS R Rerd W=l @ |

(2)

3)

(4) FAF 91 H G GBI U

B Tl AT B |
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Q.168 Zozi-La (Pass) connects which
two places out of the following?

(1) Leh - Shrinagar

(2) Jammu - Kargil

(3) Nepal - Sikkim

(4) Bhutan - Arunachal Pradesh

Q.169 Make right pairs of following
rivers and their places of origin -

A Satluj 1 Brahmgiri
B Jhelum 2 Amarkantak
C Kauveri 3 Rakshastal
D Narmada 4 \erinag

(1) A-3,B-4,C-1,D-2
(2) A-3,B-1,C-2,D-4
(3) A-2,B-4,C-1,D-3
(4) A-3,B-2,C-1,D-4
Q.170 Choose therightanswer.
A Cottonopolice of India-Mumbai 4
B  Siliconvalley ofIndia-Bangai\reJ
C  Manchesterof North India_-)(énpur
D  DetroitofIndia- Modi Nggar
(1) Allthe optlons(are rPht

(2) OnlyB ar{d D are fight

(3 )F OniyAaAd\Rakrerlght
a
((4) OnIyA,Bid are right
Q.171,As, per census of India 2011

whichs one of the following four states
has hlg estdensﬂy f population?

Pradesh

(2) Jammu & Kashmir

Himach

Manlpur
(4) Nagaland

7168 fr=fafaa & & Sifsan (g=i)
a1 21 3l B Sirsan 87

(1) < — 3R

(2) S — B

(3) =t — fafdeH

(4) YT — IAHTE TS ”

u.169 f=fofaa afeai a ?ﬁ:%ﬁj‘l’q

w?ﬁzﬁﬂéﬁgwm-é Es /
A Tagel 1 semRd €0
B oM 2 em?;!eas , F
cC @y 3 &ramawf

D

"r
(1),.A-3 B-4; 3-1 D-2

\(2) A-3,B-1,C-2,D-4
3) A-2,B-4,C-1,D-3
) JA-3,B-2,C-1,D-4

U.170 ' G?'\'Emmﬂaﬁl

A qTﬁ?b—[fbl(",ﬂll'lll("N'I ‘j*sls

B YRd &l RAcliepie dell — SR
C SN 9RA BT AFARR — SR
D ¥Rd &I SERIC — Ald] TR

(1) i fApey a8 & |
(2) HIABIDE
(3) PddATBILE B
(

4) HITABICHT B |
94171 9RA & TR0 2011 S JIFAR
fA=fafeaa ar oAl | |9 fdw =g 3
SR O Haifd 27
(1) e uew
(2) SRR R
(3) R
(4) RIS
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Q.172 Select right statement regarding
biodiversity.

A. Biodiversity is maximum in

forests.
B. Itrefers to only flora of a particular
area.

C. It is related to various species of
flora and fauna of a particular area

D. It represents the total number of
individuals of particular species
livinginanarea.

(1) Aand B both are right.
(2) B and C both are right.
(3) C and D both are right.
(4) Aand C both are right.
Q.173 The main cause of existence of
rain-shadow area on leeward side of
Western Ghat of Indiaiis - :
4%
(1) Scattered vegetation J
(2) Increasing temperatu‘e‘
(3)
(4) Increasing almqg.pﬁetjc pressure

Increasing humidity ™™

Q.174 Which force is {responsible for
deflecting winds (towards " the right
directionin the northern hemisphere?
«(1) ¢ Gravitati@nal force
(2) Centrifug
(3) Coriolis foa}e
(4) Centripetal force
Q.175% WhICh onei notafact regarding
climate ¢ fSouthIn
(1) Diurnalrange ftemperaturelsless
(2) He ogeneous climatic conditions
are
(3) Annu rangeoftemperature isless
(4) Temperatures are high throughout
the year.

U.172 99 fafdgar & IR 98 A9 61
T BT |
A. 99 fafayar g1 # waifde aid 2

B. U f&=ft &= faviy & daar yrguwd
Bl ST B R

C. ugﬁﬂﬁaaﬁﬁﬂa%qmm@
wirera @ faf= sﬁrﬁzﬂ A
R 2 "

D. I8 foft &3 4 gmﬁ TH
faoy yonfa & a%a?—ll?ﬁﬂ@r
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Q.176 Human development index
compares countries based on which of
the following level of people?

Per capitaincome

Education level

Health status

Genderratio

(1) a,b,c

(2) b,cd

(3) a,cd

(4) Alloftheabove

Q.177 Gross Domestic Product (GDP)

is the total value of :

(1) Allintermediate goods and services

(2) Allgoods and services

(3) Allfinal goods and services

(4) All intermediate and final goods and
services

Q.178 Which of the following was the

objective of NREGA 2005

(1)
(2)

a0 oo

to control the unorganised sector in
rural India. 44
to provide 100 days employnqn na
year by the government. )

(3) to control the flow of meney from
private sector to public;sector.

(4) to increase prod tibﬁ .in primary

sector. _ r

Q.179 Formal soutces ofloans include
loans from (a) Bgis (b) Money lenders

(c) Co-operatives ities (d) Traders
(1) faand b ""\

(2) Y“aandc
(3) brandc

(4) aamdd

Q.180 Which one of the following has
benefitted least because of
globalisation in India

(1)  InduStgial Sector

(2) Service Sector

(3) Secondary Sector

(4) Agriculture Sector

u.176 fA=forfRad snuRi 4 A fb snyR
WR A9 Ao gEdid Qe B g
Pl 27

gfa wafed ma

211 o1 W

TARY T WX

fer srgard 4
1

oo oo

(1) ab,c "
(2) bcd - &
(3) a,g,d \ ) /‘
(4) Swigd F
9177 WP T SHE B A ©
1) wﬁqwaéfémeﬁa%}%ﬁm

(2) ") axgaiifa HAdateli &1
Mmiﬁaﬁmﬁw

(3
SRl g off~qH avqgall den
CIS Gl
q.17‘§£«:‘:« # W TR (NREGA)
2005 R AT
(1) . H orgufed &3 @
e
(2) WRBR ERI SRISFIRI Bl Uh a9

100 fe9 &1 ISR 39 & forw

S &3 9 e 8= 3 AR qg1
P ydTe &I fafera o= & fore

(4) WANS &5 H SUGH 91 B forg
U179 kU @ INUARed wHidl H
Affaferd ® - (a) 9@ (b) 9IRBR  (c) b
afafadt (d) =

(1) a3iRb

(2) adiRc

(3) baRc

(4) a3Rd

9.180 WRd H JIAIPHRUI BT 1Y G HH
fba &= 3 Ae?

(1) 3irenfie e

(2) a1 e

(3) fagdas &=

(4) e

)
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Rough Work
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